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1. Which of the following molecules has the largest dipole moment?
(A)H. (B)HF (CO)HI (D)L

2. How many atoms in C2Hy are in the same plane?
A3 ®,4 OS5 {D6

3. Which of the following molecules is the weakest acid among them?
(A)H2SO4 (B)HCl (C)HF (D)HNO3

4. Which of the following noble gases is the third-most abundant gas in the Earth’s atmosphere?
(A)He (B)Ne (C)Ar (D)Kr

5. Which of the following substances has the larger specific heat capacity?
(A)H0() (B)Hg() (C)Alls) (D) graphite(s)

B3y BBALAR (BASY  #£304%)

1. Isotope

2. The limiting reactant or reagent

3. Hydration

4, Dual nature of light

5. Node

6. Strong electrolyte
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1. Write the formula for each compound: (a) hydrogen peroxide (b) sodium hydroxide (10 %)
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2. (a) Draw Lewis structure of the triiodide ion (I37). (15 4 )

(b) Predict the molecular structure of the triiodide ion (I3") by VSEPR model.
(c) Use the localized electron model to describe the hybrid orbitals of the central I atom in I3".

3. Calculate the pH 0of 0.01 M H>SOq4 solution. K, is very large and K = 0.012 for H2SOq4. (10 47)

4. Using a molecular orbital (MO) energy-level diagram, would you expect F; to have a lower or
higher first ionization energy than atomic fluorine? Why? (10 %)




